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Given f(x) = —2x+2 and g(x) = —x?+1 find the following. Then, state the domain of each, except
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3 : itisin facta
4—x2 represents the composition of 2 functions, find each function, and show thatitis!
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Find the inverse of each function. Show all work.
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Circle true if the statement is true, and false if the statement is false. R OV 5
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12) TRUEY FALSE  The domain of the parent function f(x) = vx is [0, ) ¥y (¢ -

13:1 TRUE /@E) The parent funcFion fx) = % has an x intercept, but no y intercept.
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14)) TRUE/) FALSE  The parent function f(x) = x* has the same x and y intercepts.
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15.) TRUE / FALSE | The graph of g(x) = (2x)* would be a horizontal stretch of the parent function f(x) = x? h ,;
hC‘)Y’\'LQf\LOL\ Shring! ( X verives aré f‘pul\\f{,} ,.,

Sl

16.) TRUE /@ To graph of k(x) = —(x — 3)?, you would reflect over the x axis before shifting 3 to the right. B
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Write the function represented by each graph. L \ Qrenine ) [ i,
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